Activity 1 and 2 Maths Answers for parents

Adding 3-dgit and 4-dight mmiben [mild)

I575 « 2T1B= 6293

54671+ 1482=T153

4339 « 245 = 4534

6582 « 1998 = 5580 guicker 1o work out mentaly
4578 « 234 = 4512

8432 « 573 = 9055

TAS8 =+ 634 = 8092

3478 + 3781 = 2459

e
- | Creollemgs -
Writa w0 oddsHons whh onowers Derswoon S000 and 10000 wiers Sene One nio 25 of
35 In amy of Hhia numibers

eg 40461 + 4604 = 8755
b 4
Adding 4-dight and 5-dight numbers (hotl

63,789 + 24,845 = 58,634

Z7 045 + 16,839 = 43 564

JAS57E + 246,794 = &0, 862

T4 286 + 52153 = 125,439

58432 + 44619 =23,101

45782 + 2045 = 48,627

28,341 + 5294 = 33,635

34,784 + 3997 = 38,781 quicker to work out mentally
T2A58 + B725 = 81,183

G, 794 + T53IT = 64,331
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L~ Challengs )
Wirtta +wo oddons with onswers Detwesn 0000 and 30,000 whers Hhers 0ra no 6005
o fiwes In Ny of Hhe mumbers
eg 11,226 + 8393 = 194619
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Activity 2 answers

540

237

Activity 3 —answers can vary




